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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52
Number of Questions to be attempted : 52

Section Marks : 52
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897081
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 2549896977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A circuit board through which all the components of a computer communicate is called the:
Options :

1. % Central Processing Unit

2. % motherboard

3. % QGraphic Processing Unit

4. % Random Access Memory

Question Number : 1 Question Id : 2549896977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9g Tfthe 1S forad A1y ¥ $eR & It Uew YaR $Rd 8, T HEardl 82
Options :

1. % Hod gaRiT g

4 SIS

. % Yifthes URIRAT gfAe

% YSH e AHR

2w

Question Number : 2 Question Id : 2549897253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which directory contains the home directories of the users in Linux?
Options :

1. % /home

2. % /dev
3. % /tmp
4

. Jetc

Question Number : 2 Question Id : 2549897253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T (Linux) H SUTNTG TS 1 819 STRGe] {5y skaed! & gkl 82
Options :

1. % /home

2. % /dev
3. & /tmp
4

. Jetc

Question Number : 3 Question Id : 2549897857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is FALSE with reference to the relational database?

Options :

1. % A relation is not a file.

2. ® Every field is single-valued.

3. & The records have a unique identifying field or composite field called the primary key field.

4. %= A relational database consists of a collection of tables.

Question Number : 3 Question Id : 2549897857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frorzra Serew & Teu o Fufafad # § &9 a1 fawe Ted 82

Options :

1. + RO U B el g

2. % YIS Bies H Uh g AF BT ]

3. % RIS 1 TP gfAidh UgaH & a1 HHfoTe & gidT § ol Urges) ) & FgT S 8|
4. % U N Serey # drfereTaf &1 GUg gidar g |

Question Number : 4 Question Id : 2549898448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which function in MS-Excel 2019 returns the cumulative interest paid between two periods?
Options :

1. = CUMINR function

2. % CUMIPMT function

3. & CINRPERIOD function

4. % CUMINRP function

Question Number : 4 Question Id : 2549898448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 BT B 1 e &l 3@ & ste &b ol saTl i TTUMT BT 82
Options :

1. % CUMINR BRI

2. % CUMIPMT BaRH

3. % CINRPERIOD ThaRH

4. ® CUMINRP bR

Question Number : 5 Question Id : 25498911558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a navigation key in a computer keyboard?
Options :

1. # Page Up

2. % Ctrl

3. % Page Down

4. = Home

Question Number : 5 Question Id : 25498911558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5 & o W YR B-a1S BI U AT BT 181 &2
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Options :
1. *= Page Up
2. % Ctrl
3. % Page Down

4. % Home

Question Number : 6 Question Id : 25498911751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does a compiler do?

Options :

1. % It produces object code

2. # [t translates machine language into high level language
3. ® It translates one statement at a time

4. & ]t translates two statements at a time

Question Number : 6 Question Id : 25498911751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
HUTSER T HRT 82

Options :

1. " T8 3eolde BIS I Bl §

2. % g AR YIS &1 I TWRF WIS F SfaTe el &
3. % g U GHY T U HYF BT 3dle HRal §

4. % Ig U IHI H &1 HU $1 3ale ol §

Question Number : 7 Question Id : 25498912011 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A is approximately one billion bytes.
Options :

1. & kilobyte

2. ® bit

3. % gigabyte

4. ® megabyte

Question Number : 7 Question Id : 25498912011 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B YT U faferm Iz @it B
Options :
1. % fodiiarse
2. % foe
3. ¥ TiNTETSC
4. % TERC

Question Number : 8 Question Id : 25498930228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to copy the formatting of a text in MS-Word 2016?
Options :

l. % CTRL+C

2. & ALT+CTRL +C
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3. % CTRL + SHIFT + F
4. % CTRL + SHIFT + C

Question Number : 8 Question Id : 25498930228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 B TR & BIH T &1 BTl 63 & fere Fafafed & 9 fory 11 wicae o1 IuanT o Sirar 82
Options :

1. ® CTRL+C

2. % ALT+ CTRL +C

3. % CTRL + SHIFT + F

4. %" CTRL + SHIFT + C

Question Number : 9 Question Id : 25498930644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a bidirectional bus carrying both instructions and data.
Options :
1. % Address Bus
2. % Control Bus
3. % Data Bus

4. % Instruction Block

Question Number : 9 Question Id : 25498930644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T el s¥(bus) & S FIERT IR ST il &1 o STl B
Options :

1. % Ug9 &

2. & held 59

3. % ST EY

4, % SR sld

Question Number : 10 Question Id : 25498930683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the utility that automatically configures plug-and-play sound cards if it is detected in Linux.
Options :
1. % sndconfig
2. % soundconfig
3. ® soundconf

4. % soundcnfg

Question Number : 10 Question Id : 25498930683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o H O o A gfeferd fored § U’ o a7 @i-08-w W3S $Ts &1 Waferd ¥U ¥ HIFPTR SRl 82
Options :

1. % sndconfig

2. % soundconfig

3. % soundconf

4. % soundcnfg
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Question Number : 11 Question Id : 25498930990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is FALSE with reference to RAM?

Options :

1. %= RAM is directly accessible by the CPU.

2. % RAM is volatile in nature.

3. ® RAM is used to store the data that is currently processed by the CPU.
4. % RAM is a part of the computer’s secondary memory.

Question Number : 11 Question Id : 25498930990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RAM & T # fFafeiaa # § o a1 fdewe o 32

Options :

1. % RAM, CPU gRT 8 TRRAEd ¢ |

2. % RAM UpTd # SRR S 21

3. % RAM 1 SUUNT I TT &1 WR B & fod {1 S 8 St adawe § cpu gRT iy fhar Sran g |
4. % RAM $R BT Yh et BAR HT TP UM 5|

Question Number : 12 Question Id : 25498933069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a computer input device containing glass or magnified glass with a crosshair allowing users to accurately trace
an object or perform precision drawing?

Options :

1. & Stylus

2. % Mouse pointing devices
3. ® Cursor device

4. % Puck

Question Number : 12 Question Id : 25498933069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fraffed & @ o1 B hugeR 37Ye f3arey ? R SR & ary arg a1 Afites o 8T €, R SuahTehal b a%g o
TE-TE U A e § 1 TP SIS F G 5

Options :

1. % R[CIPT (LTTH)

2. % A9 @rgfen fgarsy

3. % HIR feargd

4. %' Jd

Question Number : 13 Question Id : 25498933196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To subtract the number A from number B, which are represented in 2’s complement form, take of A and add it to B.
Options :

1. ®= 1’s complement

2. % 2’s complement

3. & 9’s complement

4. % 5’s complement
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Question Number : 13 Question Id : 25498933196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T A B T B A UM & g, S 2 & Rep U A A g, A & A IRFYBHINS
Options :

1. & [ PIRP

2. % 2 PI PRP

3. 5 9P RD

4, & 5P RP

Question Number : 14 Question Id : 25498933867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of graphics card memory, where the memory and graphics chips run on a common clock used to latch
data?

Options :

1. ® VRAM

2. % SGRAM
3. % DRDRAM
4. % SDRAM

Question Number : 14 Question Id : 25498933867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

?ﬁﬁﬁmwaﬁmﬁﬂﬂmﬁﬁﬁﬁﬁﬁﬁaﬁ?mﬁr@,?ﬂ%ﬂm%%@%@ﬁmﬁwﬁmmwww
?

Options :

1. ® VRAM

2. % SGRAM
3. %= DRDRAM
4. % SDRAM

Question Number : 15 Question Id : 25498934849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The refresh rate on a random scan system depends on the:
Options :

1. % memory of the system

2. & size of the screen

3. # brightness of the screen

4. % number of lines to be displayed

Question Number : 15 Question Id : 25498934849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YT W Ren R Ry R frg wm MR ardt 82
Options :

1. % ey & 3aRt

2. ¥ ThH & MBHR

3. % ThiF B IHD (F13c9)

4. « TR S ATl gl & WRem

Question Number : 16 Question Id : 2549898165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The allows you to specify how much time an account should remain locked after Account Lockout.

Options :

1. * account lockout count

2. % account lockout threshold

3. % account lockout duration

4. = account lockout frequency

Question Number : 16 Question Id : 2549898165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3! g8 Y A @Y Sruf AT § T SrepTdT didhenae & a1g fahdl SahIde i fara IHg de @i g1 aTeu|
Options :

1. % 3fBIIC AIDBSATIC DIIC

2. ¥ 3BT ADSAIT RS

3. % 3DIIC ABHIAHIC SR

4. % 3fBTIC AIDBIAIC Wb

Question Number : 17 Question Id : 2549898377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is programmed to look at the Boot sector on the hard disk to complete its task.
Options :
1. ® CMOS
2. % BIOS
3. ® SMPS
4. % POST

Question Number : 17 Question Id : 2549898377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
@ 37 BT Bl T HA & [T TS 3% R g Jaex bl 3@ & forg Wi fpar s 2|
Options :
1. ® CMOS
2. % BIOS
3. % SMPS
4. % POST

Question Number : 18 Question Id : 2549899439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is an impact printer?
Options :

1. % Inkjet printer

2. % Dot-matrix printer

3. % Laser printer

4. % Thermal printer

Question Number : 18 Question Id : 2549899439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

iR & 3 B a1 Us gide i &
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Options :
1. % Svle flier
2.+ Sle-Afeay filex
3. % o iR
4. % Y flicx

Question Number : 19 Question Id : 2549899460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To print documents, laser printers use toner
Options :

1. % cartridge

2. ® container

3. & memory

4. & spooler

Question Number : 19 Question Id : 2549899460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR TR Sl I e AT /MR SISTETIRA B
Options :

1. o B

2. % HER

3. % AER

4. % YR

Question Number : 20 Question Id : 2549899617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If your printer does not have any flashing lights and is connected properly, it is possible that you may be encountering:
Options :

1. ® a paper jam-related issue

2. % a driver-related issue

3. ® atoner-related issue

4. % a data cable-related issue

Question Number : 20 Question Id : 2549899617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

e 3l W Hae g1 W ot 3 ffer o wolw arge A16) o X&) 8, Al 31U THad: ford Tt &1 qr-T aR 3R 87
Options :

1. ® TR 9 9§ Hafdd gowr

2.« SR W Haiferd FH

3. # TR Y defia ga

4. % STT had I Jaldd go=

Question Number : 21 Question Id : 25498910783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following printing types are primary colours printed onto a sheet in a pattern of tiny dots that is perceived as a solid colour
that creates illusions of many more colours?

Options :
1. = RGB
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2. % LAB
3. % CMYK
4. = CMYB

Question Number : 21 Question Id : 25498910783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafed o 9 g &1 95 TR o4 91 § s mrufiie 31 te e R ek figsi & Ied A gfed gia 8 i te s s ®u o
T S 8 S 5% SR T b7 Y U1 vl 82

Options :

1. % RGB

2. % LAB

3. % CMYK

4. % CMYB

Question Number : 22 Question Id : 25498911123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The purpose of printer drivers is to allow applications to do printing without being aware of the technical details of
Options :

1. *= Network size

2. % Printer model

3. % Network topology

4. % Data format

Question Number : 22 Question Id : 25498911123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR SRR PISEI URSIA DI P qp-p! [daxvll & IR H S o1 01 = Bt 3gafd S 6|
Options :

1. ® Jegd grsd

2.« Tl Aled

3. % A¢dd cUlarstt

4. % STIHITC

Question Number : 23 Question Id : 25498913438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following features of MS Excel is used to quickly copy and paste content to adjacent cells in the same row or column?
Options :

1. *= Format Painter

2. % Fill Handle

3. % Auto Format

4. % Clear Formatting

Question Number : 23 Question Id : 25498913438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%quExcel%ﬁmﬁﬁﬁqﬁqﬂmﬁwdﬁmﬁaﬂ$ﬁﬁﬁwﬁéﬁﬁaﬂﬁwﬁaﬂﬁaﬁ?ﬁ?ﬂﬁ%%ﬁ@t@ﬂ
ST 82

Options :

|. ® BiAC U

2.« fha g5
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3 % 3ffd) VE
4. % THRRR BIATT

Question Number : 24 Question Id : 25498913463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the sequence of elements of an image de-compression system?
Options :

1. ® Dequantizer -> Decoder -> Inverse transformer

2. % Decoder -> Inverse transformer -> Dequantizer

3. % Decoder -> Dequantizer -> Inverse transformer

4. & Inverse transformer -> Dequantizer -> Decoder

Question Number : 24 Question Id : 25498913463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST SRS YU & e BT 3 HT 82
Options :

1. % SHifCoR - [P - STaY TABIR

2. % fSPIER - S04 TAHIR - DR,

3. # [EPIET - SpifewR - s ghamRR

4. % ST TR - SBiTETR - RIS

Question Number : 25 Question Id : 25498918489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sequence of steps used to choose a printer as the default printer in Windows 10.

Options :

1. % Start -> Settings -> Devices -> Printers & scanners -> Select a printer -> Manage -> Set as default
2. % Start -> Devices -> Settings -> Printers & scanners -> Select a printer -> Manage -> Set as default
3. % Start -> Settings -> Printers & scanners -> Devices -> Select a printer -> Manage -> Set as default

4. ® Start -> Devices -> Printers & scanners -> Settings -> Select a printer -> Manage -> Set as default

Question Number : 25 Question Id : 25498918489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows 10 ¥ foreit fifer &1 fEwhice fifer & U & e A & RN &1 68 R 82

Options :

1. % WIS > Ay > Sz - fiied T8 W > fiier BT Iga B -> A > fEWiee TUH e B
2. & Errc‘->%ms@%r->@ﬁm->ﬁeﬁqg®ﬂﬁ->ﬁamwaﬁ->ﬁﬁa->%ﬁwwﬁﬁﬁaﬁ
3. % T > A > e ts W > fSarsay - iR &1 T 6% > 33! -> fShlee ®0 H I &Y
4. % T > fEargay -> fiied te W - W > e &1 787 I > Bt -> feWiee FuH Yo Y

Question Number : 26 Question Id : 25498921931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
key cryptography algorithms are also called symmetric encryption.
Options :
1. % Secret
2. % Personal
3. & Shared
4. % Universal
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Question Number : 26 Question Id : 25498921931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P frurme TEiiyd & IRt ufhwe W s S g |
Options :

1.« ihe

2. & U

3. % }Ts

4. % gFaYd

Question Number : 27 Question Id : 25498922692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a way to protect your computer from viruses and malware?
Options :

1. % By not clicking on links inside mails sent by unknown senders

2. ® By downloading as many files as you can

3. & By always allowing pop-ups to open

4. ® By keeping the firewall always turned off if you have an antivirus software installed

Question Number : 27 Question Id : 25498922692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

30 HUER P ARRY R AAIR U R 3@ BT Rl g d ST g2
Options :

1. % 33T U gRT Ul T¢ A H 37U gU i IR faete 7 Hah

2. % RS 31t B b BIgdl SI3S dRd

3. % TI0 3(U DI §HRM G- abR

4. % Jie THIRRY JIhcdR ST 8, 1 BIRATd Pl HRI 8¢ TGP

Question Number : 28 Question Id : 25498924446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the device manipulation system call of Windows?
Options :

1. & SetConsoleMode( )

2. % MapConsole( )

3. % ReadConsole( )

4. % WriteConsole( )

Question Number : 28 Question Id : 25498924446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 & B I Windows HT T Sarsq AfFYaH Rred oid 78 g2
Options :

1. ®= SetConsoleMode( )

2. % MapConsole( )

3. % ReadConsole( )

4. % WriteConsole( )

Question Number : 29 Question Id : 25498925410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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What is a brownout?
Options :
1. % A drop in voltage below normal levels
2. & A rise in voltage above normal levels
3. % A drop in the current below normal levels

4. % A rise in the current above normal levels

Question Number : 29 Question Id : 25498925410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FIF3MIT T 82

Options :

1. # Tlecol & YN TR 9 HH gl

2. % Glecol &I MR TR I 31e® giHT

3. % faggd YR &1 IR TR J HH g
4. % faqgd YR &1 IHERI TR 9 31D gIHT

Question Number : 30 Question Id : 25498927436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a mandatory component to set up a computer system?
Options :

1. * Computer hardware

2. & Operating system

3. % System software

4. % Application software

Question Number : 30 Question Id : 25498927436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR R P Ye-om 3 F Ry HaRiad 3 3 S 91 g sifar ges 8
Options :

. % IR GISAW

2. % QAT ReH

3. % e Wit

4. + TRITHRA AR

Question Number : 31 Question Id : 2549896723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is a URL?

Options :

1. ®= A software package.

2. & A live chart program.

3. %" The address of a resource on the World Wide Web.
4. % The term used to describe an Internet wizard.

Question Number : 31 Question Id : 2549896723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
URL FIT&?
Options :

|, % U GIocaiR Ul
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2. ® T @I3d I1¢ URIH
3.+ 90 d158 99 R el R s ugw
4. % Zee fAVTTS Bt AR B | SUANT fhaT 9 aTel Uh Uec |

Question Number : 32 Question Id : 2549896730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a valid e-mail address?
Options :

1. % Joe.bloggs@www@freemail.com

2. % Joe.bloggs@freemail.com

3. ®% @freemail.com

4. % Joe.bloggs.freemail.com

Question Number : 32 Question Id : 2549896730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e APy s- AT IS &2
Options :

1. & Joe.bloggs@www@freemail.com
2. % Joe.bloggs@freemail.com

3. & @freemail.com

4. % Joe.bloggs.freemail.com

Question Number : 33 Question Id : 2549896752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a concept related to using computer networks to link people and resources.
Options :
1. % Information
2. % Data
3. % Connectivity
4. ® Linking

Question Number : 33 Question Id : 2549896752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS SIEr ¥ Siea & o eR Aead! & SUANT § Yefdd Sy g
Options :

1. % SGIHRH

2. %80

3. & PAfaefadt

4. % faifebr

Question Number : 34 Question Id : 2549897608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a search engine?
Options :

1. ® Microsoft Bing

2. % Google Search

3. % Internet Explorer

4. ® Yandex
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Question Number : 34 Question Id : 2549897608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
79 # 9 & A1 U 9 g0 81 82
Options :

1. ® Microsoft Bing (WIEWW %‘T)

2. % Google Search ([T ?ﬁf)

3. % Internet Explorer (g_cf_{ﬁ? W)
4. % Yandex (El'i%a'\q)

Question Number : 35 Question Id : 2549897948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One Gigabyte equals to .
Options :

|y P iytes
5w 2 hbytes

2% bytes

4. % 250 bytes

Question Number : 35 Question Id : 2549897948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T TTeTge P RER A2
Options :

in
|t = bytes
o x 2 hvtes

3 % 2% bytes

4. % 2% bytes

Question Number : 36 Question Id : 2549897999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is also used as an authentication along with the Aadhar card in the BHIM app.
Options :
1. % Fingerprint
2. % Barcode
3. ® Pincode
4. % PC-code

Question Number : 36 Question Id : 2549897999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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i (BHIM) VU & TATIA & foT SMUR HTS & 1Y & &1 1t U farar Srar 3|
Options :

1. » flRfte

2. & IRPIS

3. % fUPIg

4. % it ®lg

Question Number : 37 Question Id : 2549899018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a pointing Input device of a computer?
Options :

1. % 3D Mice

2. % Scanner

3. ® Microphone

4. % Magnetic Ink Card Reader (MICR)

Question Number : 37 Question Id : 2549899018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A H A oH W FER $ TH U 3YC fEarsd 82
Options :

1. % 3D Mice (HIg¥)

2. % Scanner @FN)

3. % Microphone GIEEIaE)
4. % Magnetic Ink Card Reader (ﬁﬁ% ECg Fre 3 SX) (MICR)

Question Number : 38 Question Id : 25498910439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There are  options under Change Case in MS-Word 2019.
Options :

1. % two

2. * three

3. & four

4. % five

Question Number : 38 Question Id : 25498910439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 & I 9 & 3flid  fdbea gid g
Options :

R

2. % dH

3. K9R

4. % U

Question Number : 39 Question Id : 25498910564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the decimal equivalent of the following hexadecimal number?
(150)16
Options :
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1. % 96
2. % 69
3. %100
4. % 336

Question Number : 39 Question Id : 25498910564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafefed saarsRme Te &1 S THde 3172
(150)16

Options :

1. % 96

2. %69
3. %100
4. % 336

Question Number : 40 Question Id : 25498910637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following line spacing options is invalid in MS-Word 2019?
Options :

1. * Double

2. % Single

3. % Triple

4, % Multiple

Question Number : 40 Question Id : 25498910637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H, 79 & ¥ & ¥ 13- WRAT s 82
Options :

1. % &dd

2. % ¥
3.« feud

4. % AEd

Question Number : 41 Question Id : 25498910714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following short cut keys is used to open the Replace dialog box in MS-Word 2019?
Options :

1. % Ctul+N

2. % Ctrl+H

3. ® Cul+F

4, &= Cul+G

Question Number : 41 Question Id : 25498910714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 T, R& ST Siad &1 Gier & e 5 8 § ford Qicae &1 o1 IuaiT e S g2
Options :

1. % Ctrl + N

2.% Cul+H
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3. ® Cul+F
4. ® Ctrl+ G

Question Number : 42 Question Id : 25498910733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the decimal equivalent of the following Binary number?
(1110001),

Options :
1. % 131
2. % 311
3. % 11

4. % 113

Question Number : 42 Question Id : 25498910733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafRed aTg<t TRe 1 gRad THded o1 82
(1110001),

Options :
1. % 131
2. % 311
3. % 11

4. % 113

Question Number : 43 Question Id : 25498911468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
In M5-Waord 2019, the given icon represents

abc

Options :

1. % Capitalization of letters
2. % Spelling and Grammar
3. & Research

4. % Auto change of letters

Question Number : 43 Question Id : 25498911468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ms-wood 20 TS B T aEs s T e O

ab

Options :

1. % 31eR} BT bl

2. « Tt 3R STHRT (WA TS IR
3. & 3Ty ()

4. % 31&R} &1 Wq: uRad—

Question Number : 44 Question Id : 25498911492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Which of the following is FALSE with reference to Automatic spelling and grammar check in MS-Word 2013?
Options :

1. ®% By default, MS-Word automatically checks your document for spelling and grammar errors.

2. % The blue line indicates a grammatical error, including misused words.

3. & Wrongly spelt words are underlined with red colour.

4. % The blue line indicates a misspelled word.

Question Number : 44 Question Id : 25498911492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2013 ¥ '3ifeRfesd WA U8 IR I & o # fFaferia faweal o ¥ &9 a1 e 82

Options :

1. & fSWiee U, MS-Word WA &0 J g1 3R TSI &1 Ffed! & g 3maes Siagie &t Sird Rl 5|
2. & el a1 Al el AT BT SR Fa 7, fored e Wreg ft =i g §

3. T[qd Id-t 9T Yea Bl T W1 ¥ Yiferd far srar §1

4. « =it X1 TTerd ad ATel Wed Bl G B

Question Number : 45 Question Id : 25498911831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In general, we increase the line spacing to readability of the document in MS-Word 2016.
Options :

1. % improve

2. % worsen

3. ® retain the same

4. & detriorate

Question Number : 45 Question Id : 25498911831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

BH MS-Word 2016 T STHIHCH &1 U1l &1 ¥ o gmTga: arg WRiT @ se §
Options :

1.« GYRA

2. % WRE HH

3. % g @A

4. % fmeq

Question Number : 46 Question Id : 25498911973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2019, which shortcut is used to align the selected text towards the left of the page?
Options :

l. &% Ctrl +1J

2. ® Ctrl+ M

3. & Ctrl + K

4. % Ctrl + L

Question Number : 46 Question Id : 25498911973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
MS-Word 2019 H, Joige {3 T eae &1 U1 H aff 3R TRAd = & o {5 d-she &1 IuaiT fpan Sran 82

Options :
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1. & Cul+]J
2. % Cul+M
3. ® Cul+K
4. % Ctrl + L

Question Number : 47 Question Id : 25498912508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2019, which dialog box is used to change the starting page number for a particular part of the document?
Options :

1. % Page Number Format dialog box

2. & Footer dialog box

3. % Page number dialog box

4. ® Header dialog box

Question Number : 47 Question Id : 25498912508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%/IS—Word 2019 ¥, Tt Siagic & foedt faRie U1 & fore U0 &1 S & uRad= e & o fee Sraai Sie &1 ST fasar sirar
?

Options :

1. % O 4R Bifc SarT alad
2. % PHox SIANT dle

3. % US FeR STIQ sl

4. % g SN Sl

Question Number : 48 Question Id : 25498919167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the full form of ‘ASCII’, with reference to the data representation in computers?
Options :

1. % American Standard Code for Information Interchange

2. & Analytical Standard Code for Information Interchange

3. ®% American Standard Code for Information Interaction

4. % American Satellite Code for Information Interchange

Question Number : 48 Question Id : 25498919167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FHe § ST & ufaffera & T & Ascir &1 quiey &1 82

Options :

1. % American Standard Code for Information Interchange (&Iﬁﬁﬁ WSS B8 BR E:I'qv—lﬁ-‘?l:f WG‘D

2. # Analytical Standard Code for Information Interchange (@ﬁﬁw WSS B8 BIR mﬁ E'E@'Trr)
3. % American Standard Code for Information Interaction (G@W LTSS IS BR squo‘lﬁ‘m EEEWFT)

4. ® American Satellite Code for Information Interchange (\Hﬁﬂ'ﬁb_r[ T <C Pl BR sﬂkbll:lr-‘ZH ELTS))

Question Number : 49 Question Id : 25498920459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The inventor of WWW is

Options :

1. * Bill Gates

2. % Lee N Feyong
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3. & N Ressell

4. % Tim Berners Lee

Question Number : 49 Question Id : 25498920459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
WWW & SHITHREB gl
Options :

1. % fqd g

2. % LA, BANT

3. % T, 34

4. v RO S ot

Question Number : 50 Question Id : 25498925522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2019, under which of the following groups are the superscript and subscript options present?
Options :

1. ® Paragraph group

2. % Font group

3. & Styles group

4. % Clipboard group

Question Number : 50 Question Id : 25498925522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 &, 9 & 9 fr Tqg & siavid guRfEpY 3R qafery fadwen AiNg g 82
Options :

1. % TRTI% G

2. % Bic g

3. % IR g

4. % fFAUeIS g

Question Number : 51 Question Id : 25498932155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A web service that provides real time video and voice communication is:
Options :

1. &% blog

2. % chat

3. & email

4. % videoconferencing

Question Number : 51 Question Id : 25498932155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T8 39 Ja1 19 H 4 o A & ol Rarer ergd Afed ok aray sy ot giaer it &2
Options :

1. % ST

2. ® e

3. % A

4. ST BB
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Question Number : 52 Question Id : 25498933776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following is a communication protocol used to send files from a computer to another computer, with one of them acting as
the server, provided the two have an Internet connection?

Options :
1. % POP3
2. % SNMP
3. % FTP
4. % SMTP

Question Number : 52 Question Id : 25498933776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fafafed & ¥ o 91 98 FRAHRE UICIPId 5 e START HBIdl $I b SR U GuR e § HoH & o fosar s e,
T U SR TR & ¥Y H BT HRAT § 3R 1 8 $ee Ha U IS 8id 82

Options :

1. = POP3

2. & SNMP

3. % FTP

4. = SMTP

READING COMPREHENSION

Section Id : 2549897041
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897082
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 25498921109 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

Ali’s Dream

Ali was twelve years old, and his sister Aliya was fifteen. He was fond of sports and his wish was to become a doctor.
One sunny Saturday morning, Ali’s father gave him fifty rupees to buy whatever he wanted. Ali was very happy.

Now, Ali’s parents had a big garden in which a variety of fruit trees grew. There were lemon trees, apple trees, mango trees and a jackfruit
tree. Ali loved spending time sitting on tree branches, playing with squirrels and birds. He put the money in his pocket and climbed up on a
branch of a mango tree. It was his favourite tree in the garden. .

Sitting atop the mango tree, Ali looked at his fifty-rupee note and said to himself, “I'm going to go to the market tomorrow on my bicycle,
and I'm going to buy some seeds with this money. Then I'm going to plant them under this tree. I'm going to have a lot of flowers and fruit
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and plants. When they are fully grown, I'm going to sell them. A lot of people will come to my garden every day and buy flowers and fruits
and plants.” Ali thought excitedly, “I will earn a lot of money. Then when I grow up, I will go to a university. I will study hard to become a
doctor.”

Ali went on thinking excitedly. He was lost in his dreams. “Then Aliya will come to me and say, 'Doctor, Doctor, I've broken my left arm!
Please help me!" And I will set her arm right.”

The sky was blue, the weather was hot, and Ali did not realise when he fell asleep. Suddenly he lost his balance and fell down the tree. His
arm was dislocated. When Aliya came to call him for dinner, she saw him sitting in pain with a dislocated arm.

His mother and his sister took him to the doctor who had to set it for him. Poor Ali!
Sub questions

Question Number : 53 Question Id : 25498921110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which tree was Ali’s favourite?
Options :

1. = Apple

2. & Jack fruit

3. % Lemon

4. % Mango

Question Number : 54 Question Id : 25498921111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ali got fifty rupees from:

Options :

1. % his father

2. & his sister

3. & his doctor

4. % his mother

Question Number : 55 Question Id : 25498921112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With the money his father gave him, Ali planned to buy:
Options :

1. ® fruits

2. % seeds

3. & plants

4. = yegetables

Question Number : 56 Question Id : 25498921113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange Ali’s thought process in the correct order.

a) He will go to a university to study to become a doctor.
b) He will sell the fruits and vegetables and make money.
¢) He will treat his sister and other patients.

d) He will buy seeds and plant them in the garden.

Options :
1. % abced
2. % bdca
3. % dbac
4. ® cabd
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Question Number : 57 Question Id : 25498921114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following proverbs conveys the message of the story appropriately?
Options :

1. % Don’t put all your eggs in one basket.

2. % We will only grow as big as our dreams.

3. % Don’t count your chickens before they hatch.

4

. &% Don’t cry over spilt milk.

Question Id : 25498921109 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)

3T 7T TR 1 UG STk IHb YR W U & IR S|

3{cit T FUHT

el Y 3T IRE T 3R I T 3N Bt 311 Usg I8 2| 98 Wl &1 e - AT 3R STaex ST argal Ul

IR $ TP A% TG aTelt ae, 37eft & fUdl 4 38 301 Aa1e] $8 it Bie & e vamg $ud U ofcht 9gd g ol

3t & HTT-foraT & T U oS St o7 o fafte IR & haeR U @ U | I9% g, 99, 31 & US ¥ 3R Uh Hegd Pl
U +ft a1 arcft ) O Bt STa WR 93T, Meredt 3ik ufdrd & Iy W 9gd U Tl 39 U 31Ot 3id B 39 3R 31 & U8 Pt
% ST R TI¢ 7171 T8 T BT ST el Us Ul

3T F U TR dEHR 3l = 30 T ¥ & I B ol 3R Ga ¥ FHT, "8 el U1 Tigfaret I FOR S, R 34 0401 9 $3
i WA o & 3% 39 U F A9 & GO SO IR U o) R Bd, Hdl SR U1 5 e | bR ofe 3 93 g1 o, H 3% 99 gl
AT B YR AT IR T B ST IR T, B IR TS TR |7 3t S1fed gl Trardm Igar g1 8 ex IR U HHIS | iR o
T FST 81 ST A fayfIeTers ST | 3iR 981 Slaex S & folT 7 T R UgTs Hm |

3l IR SehR T 8T a8 3(U= Ju=1 7 | 77| R anferar AR oy el oik e, Siaex, Siaex, TR1 a1 814 ¢¢ T 3!
Y b PR N1’ 3R T IYHT 81y SN HR M |"

STTAT T T, TH 81 et oY, areft Y v &t el =t o a8 Fd T 1| 3/ ST Ygar forTs 7T iR a8 U § e AR ue
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Sub questions

Question Number : 53 Question Id : 25498921110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3 BT URiEIe U HIF 11 U1
Options :

e

. & dcgd

% g

# 3{TH

A Lo

Question Number : 54 Question Id : 25498921111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3{cit 1 U=y ¥UT foha faw 32
Options :

1.« I fUar =

2. % IYBI g8
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3. ® JgP Sldex A
4. ® JGBIATA

Question Number : 55 Question Id : 25498921112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

W D1 Ao §18 R

Correct Marks : 1 Wrong Marks : 0
e 9 U Ot 9 et A

Options :

1. & Ol

2. ¥ diel

3. % O

4. % Afesar

Question Number : 56 Question Id : 25498921113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3fclt 1 fa=IR Ufchan 1 Agt shH H afRud .
a) I8 fayfIaTerd o1 R STaedl B Ugls B
b) I8 Tell 3R Tieedl 1 99 HR UH HHT
¢) I8 3T I8+ 3R 317 AT BT ST BT
d) I8 SIS WIS 3R 3 e H &Y |
Options :

1. & abcd

2. & bdca

3. %" dbac

4. % cabd

Question Number : 57 Question Id : 25498921114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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fafifad seadl & o9 A HeMl & Jex &l Ifad T I ad HRdl 82

Options :

1. % Y9%3 Ud gl aR H gig R AT
2. % B 3UF quA! o1 81 98 81
3.« @l I dRe AraT

4. % I o1 yzamar

QUANTITATIVE APTITUDE
Section Id : 2549897042
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897083
Question Shuffling Allowed : Yes
Is Section Default? : null
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Question Number : 58 Question Id : 25498914343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that can replace the question mark (73 in the given equation.

{Mote: you are not expected to caleulate the exact value)
VBE8T x 1245 + /689 — 7= 13

Options :

1. % 840

2. %910

3. % 1320
4. % 1120

Question Number : 58 Question Id : 25498914343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
EraTatEE v # waa ®e (7) & B 99 SEMET #4T A HIUIT? (HI9eRT Ty A T U
FT AEYTFAT 74T E)

YEBET x {1245+ yBBG — 7+ 13

Options :

1. & B840

2. % 810
3.9 1320

4. % 1120

Question Number : 59 Question Id : 25498929003 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The difference between the total simple interest and the total compound interest, compounded annually, at the same rate of interest on a
sum of money at the end of 2 years is ¥50. What is definitely the rate of interest per annum?

Options :

1. % 10%

2. % 4%

3. % Data provided are not adequate to answer the question
4. % 5%

Question Number : 59 Question Id : 25498929003 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& 99 TYEE §HE S & T UF U0 §A WA J0= AN §W 9waie sd (e awae) w
AT ¥ 50 §| = =T ofaes gheet ffee A woawm i

Options :

1. % 10%

2. & 4%

s o T I B & B B oA 3w wwes SR

4. %= 5%
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Question Number : 60 Question Id : 25498929006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

What is the approximate value of the given expression?
(Note: you are not expected to calculate the exact value)

423.62 —269.21 = (11.9% of 78) =?
Options :
1. % 525
2. ® 455
3. % 645
4. % 395

Question Number : 60 Question Id : 25498929006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fer oo woer # wosTRme (7) & FUE 9T NI AT FT EIET =ifEeT
(oot 3oy o FE fr TR T AT 7 L)

423652 -269.21 - (78=FT11.8%) =7
Options :

= 525
2. % 455
3. % B45

4.« 395

Question Number : 61 Question Id : 25498929075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A gave 25% of an amount to B. From the money B received, he spent 30% on a dinner. Out of the remaining amount, the respective ratio
between the amount he kept as savings and the amount he spent on buying a book is 5 : 2. If B bought the book for 460, how much money
did A have at the beginning?

Options :

1. % 112,600
2. % 39,200
3. % %12,000
4. % 39,000

Question Number : 61 Question Id : 25498929075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A Gt ofir &1 25% B & 2T B Eﬁﬁﬁmﬁﬁ%h%ﬁm%;ﬁ@%rﬁ?ﬁﬁ.
mEE TR ST i e el s Rr e S o o 5 2 B o
B 7460 #r frae =iEar § O 30w & A & g feaar ofer 42

Options :
1. % 112,600
2. % 39,200
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3. % 312,000
4. % 39,000

Question Number : 62 Question Id : 25498929354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The area of a rectangle is equal to the area of a circle with a circumference of 39.6 m. What is the length of the rectangle if its breadth is
4.5 m?

Options :

l. ®33.52m
2. %2136 m
3. % 31.77m
4. % 2772 m

Question Number : 62 Question Id : 25498929354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T HIES W EWRA 306 Heg TN & UF g0 & 89w & oWt 5 Wiy 3o & =tEd 4.5 #e @
A wrae $ A s aehe

Options :

| = 33.52 #eT
, = 21.38 #ew
5 x 31.77 e

4w 27.72 FET

Question Number : 63 Question Id : 25498929576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L

14
Om simplifications, ?—313— <+ (0.05) is equal o

Options :
1. % 0.1
2. % 0.01
3.% 10
4. % 100

Question Number : 63 Question Id : 25498929576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HTARIT #1491, - _’f_ ~ {0.05) T AT FW gEI?
Options :
1.& 0.1
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2. D-':H

3.4 10
4. % 100

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549897043
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897084
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 64 Question Id : 25498910410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option in which the words share the same relationship as that shared by the given pair of words.

Stickler : Insist
Options :

1. ®% Laggard : Outlast
2. % Braggart : Boast
3. & Haggler : Concede
4. ® Trickster : Risk

Question Number : 64 Question Id : 25498910410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 faded o1 9o DI Forads Weal & ot a8) Yae § S Yaiy - fou U Xeg-gm & Ted} & A 3|
TR : 3T

Options :

1. % 3fTer W

2. % SR : ST

3. % AIAYHIG : WIHR BT

4, % AT : SNFRAH

Question Number : 65 Question Id : 25498912880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the letters in the word UNDERTAKING are rearranged in alphabetical order, then which letter will be in the middle in the order after the
rearrangement?

Options :
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1. %G
2. %1
3.% K
4. & N

Question Number : 65 Question Id : 25498912880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I }eg UNDERTAKING & 31&RI &1 3ISTt quiigerd & SR Y-: afyd fam ol &, df 39 TR &t gIeiawl & &g 0 &
DI T 3H&R ST

Options :

1. %G

o |

& K

% N

LD

Question Number : 66 Question Id : 25498919628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Select the option that mentions a quality common to the three given words.

Volleyball : Hockey : Football
Options :

1. & Athletes

2. % Games

3. % Stick
4

. ® Aquatics

Question Number : 66 Question Id : 25498919628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A feu T A Tsa) o THM fARINdT BT I0E B aTdl faded &1 Igq Hifvu |
Wﬁmw

Options :

1. % Tydie
2. % @A
3. & e
4. % ThicH

Question Number : 67 Question Id : 25498919702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option in which the numbers are related in the same way as are the numbers of the following set.

(6, 36, 63)
Options :

1. % (7,49, 98)
2. % (8, 64, 46)
3. % (9, 84, 45)
4. % (11, 112, 84)

Question Number : 67 Question Id : 25498919702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

I fqaeg &1 7oA Hiforg fored &t 718 TRemafi & o9 a8t Iae g S Taie el fau U e Iy &t gemsit & S g

(6, 36, 63)
Options :

1. % (7,49,98)
2. % (8, 64, 46)
3. % (9, 84, 45)
4. %= (11, 112, 84)

Question Number : 68 Question Id : 25498920359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four word pairs have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. ®= Twig : Nest

2. % Wood : Furniture

3. % Pitcher : Pottery

4. % Gold : Ornaments

Question Number : 68 Question Id : 25498920359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IR Yoa-gH 3T 71T & Rd A i et TR T G € Saifeh I8 A Ueb 3T & | I ST Xg-giH b1 Tu I |

Options :

Question Number : 69 Question Id : 25498928161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, DEAL is coded as 4-5-1-12. How will LADY be coded in that language?
Options :

1. ® 12-4-1-25

2. % 12-1-4-25

3. % 10-1-4-23

4. % 12-1-4-22

Question Number : 69 Question Id : 25498928161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T A FeuToT § afe DEAL &1 4-5-1-12 % U H Feag a1 ST &, @ S HeH LADY $i {59 9 H deag fosan s
Options :

1. %= 12-4-1-25

2. % 12-1-4-25

3. % 10-1-4-23

4, % 12-1-4-22

GENERAL AWARENESS
Section Id : 2549897044
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Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897085
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 70 Question Id : 2549895257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a source of industrial finance in India?
Options :

1. % Industrial Finance Corporation of India

2. * State Finance Corporation

3. ® Unit Trust of India

4. ¥ NABARD

Question Number : 70 Question Id : 2549895257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frofafed &  oH-a1 yRa A sienfie fad &1 ue Jid 761 82
Options :

1. % SSRCTA B3 HIRURTA 3 sfear

. & T B HRURTH

% e g ofith e

. % TTETS (NABARD)

NIV

Question Number : 71 Question Id : 2549895535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mendel's laws apply only when:

Options :

1. ® characters are linked

2. % parents are pure breeding

3. & F1 monohybrid ratio shows type of pure breeding

4. % the first pair of contrasting characters is dependent upon other pairs

Question Number : 71 Question Id : 2549895535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ted &1 o1 &d AN 8T 82

Options :

1. % 9 0 S gU B

2.« 19 AT1-fdT PG ST & i

3. & 99 F1 AHIERIS U G SifeT & UHR Uefid HRal g
4. % 59 fqum 7off &) gl Sl g SISt R R @R B
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Question Number : 72 Question Id : 2549899988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following leaders proposed to adopt complete independence as the goal of the Congress in the Ahmedabad Session of
1920?

Options :

1. % Abul Kalam Azad

2. %" Hasarat Mohani

3. % Jawaharlal Nehru

4. % Mohandas Karamchand Gandhi

Question Number : 72 Question Id : 2549899988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafoRaa Aarsit & 9 frae 1920 B S & sgHGEE ¥ & 967 & U H Yol WdaAdl I 3UH &1 URdTd 3@ 412
Options :

1. % 3T dhellH 3TSlTq
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3. % SATeRAN A8

4. % HIg-aN HIFa-3 el

Question Number : 73 Question Id : 25498912776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Where is Netaji Subhas National Institute of Sports located?
Options :

1. & Kolkata

2. % Pune

3. % Patiala

4. % Gwalior

Question Number : 73 Question Id : 25498912776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sl GUTY 5T B TR 5 R H 2
Options :

1. ¥ BldpTdl

2. ® QO

3. Ufegran

4. % TqICIAR

Question Number : 74 Question Id : 25498932567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Right to property was removed from the list of fundamental rights during the rule of:
Options :

1. & Indira Gandhi Government

2. % Morarji Desai Government

3. % Narasimha Rao Government

4. ® Vajpayee Government

Question Number : 74 Question Id : 25498932567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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4. % GO WBR

Question Number : 75 Question Id : 25498935817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following characteristics symbolise the oriental cultural realm? (Select the correct option by using the given codes.)

1. Industrialisation

2. Joint family bond

3. Subsistence agriculture
4. Urbanisation

Options :

1. % 1,2and 4
2. % 2 and 3
3. % land 3
4. % 2 3and 4

Question Number : 75 Question Id : 25498935817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 1,234
2. %2 3R 3
3. % 1 3R3
4. % 2 334
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Sub-Section Number : 1
Sub-Section Id : 2549897086
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 76 Question Id : 25498941285 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children

have fun during this process as they get to explore new arenas.
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Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897087
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 77 Question Id : 25498937918 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

TV abbreviation for television is a telecommunication tool employed for transmitting moving pictures along with audio. The
television was incited for the public for entertainment purposes and offered important news to people of all age groups. Some
people contend that television does not always positively influence people because it can sometimes hinder communication between
people. Television addiction is observed between people of all age groups. While television is an excellent source of relaxation and
can be used to escape from our routine stress getting addicted to it can be damaging. television addiction is apprehended to create
behavioural problems. A person who is addicted to television is expected to show signs of aggressiveness. This is because most
television programs stream brutal content. It can blur the ability of a person to contemplate. The reasoning and behaviour of a
television addict are primarily influenced by the type of shows they watch repeatedly. They are not capable of focusing on their
work. They have this never ending urge to revert to the television and watch their beloved shows. Additionally this obsession also
decreases the activity of the brain that results in bad performance at work. Television addicts usually daydream and start living in
a fancy world. They cut off connections from reality. They frequently complain of migraine. They often suffer from redness in the
eyes and their eyesight also declines over time. Television addicts usually seclude themselves from society. This results in depression
over time. This obsession ends in irregular sleep patterns which causes apathy and hinders work. It can reduce physical activities
and result in several health problems such as obesity and heart problems etc. television addiction destroys the brain to a large
extent. It hinders the holistic growth of an individual. It is straining personal relationships and increasing negative thinking among
the masses. Television addiction is the same as other forms of addiction such as drug addiction or mobile addiction and other
disorders. The problem must be addressed to help people lead a happy and fulfilling life. If one cannot subdue television addiction
they should immediately meet a guide or therapist who can help them to handle the addiction. One can start by restricting their
television viewing time. Make a schedule that involves different activities throughout the day to keep you busy. Adhere to your plan
to run your day orderly and limit your television viewing hours. This can prove to be a notable move in getting rid of television
addiction. Spending time with your family is much more satisfying than wasting time in front of the idiot box. When trying to get
over your television obsession it is always a great idea to seek help from family members. They will assuredly assist you in the
situation. Every person in this world has a hobby. They should indulge in them. We can also get engaged in doing household chores
and reading books or some other activities of their choice. This will reduce our urge to watch television and get rid of this
addiction. One may have the urge to watch television while they sit at home for a long time. It is a great idea to get involved in
outdoor activities or visiting a friend which will help you stay away from the television for long hours.
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